. AR i |
28 (kD)




EhE5 =&
AG: | BE




EhE6 =/
A-G- | K

1. GHERI%H P
k) K%

@,
&

4 N

S S=naw

3 j
- i
-
s g
= 3
T : g
< )(‘.}
R







BRE8 it
BYMA

3. B13863tiith
£ F3)]
4. B1385 LM% O




EIRE 9
E%B

it

)

(H&h)

. B3435Hy

. 34348 7T
M ki
(Hi&b)
. B1S27H4 7K
W R
(BkH)




EIRR10  epit

E®cC

. 3035140
B LIRR
(FkD)
. B3017+4t
IR
Mkh)




BRR11 oottt
E%D

. 2R 0
(EhEH)

3. B246HrT #
e+t
(X n)
4. B2081 1
AR
(HXn)




BARR12 it
BME

2. C5oLuEE
MLh)

3. (579143
AW LR
ek b)




EhR13 &)
B¥®F G

1. BSF AR
({#ELD)

B6004 15
AN
(WEh)




-
£
g
i
B




ERR15 it
EBEHM-N-O

1. BEMER
(EHEH)

S i
: e !
e ) g b

o«

3. BN
18533 F
Ll e

(M&h)



BERR16 =it
E%P-Q-R

1. BRPAER
(B




EIRR17  ehitt
E%R

2. E398--is
(& b)

3. E393EacE
M LR
(kD) §




ERR18  cpitr
A-G- | #E

1. A6050%%
(Hxb)




BIRR19 i
(€1




. K382 - K384

. K5731:5%
Sl kR
(H& )
. K424
WA
(&)




FRR21 it
JHE

2. J465014 -
142501475

3. J4650 1-4%
#&ED)




ERR22 354

=S
Mtk
(#kD)
. hREEL
s (Hkn)

. AR 2

Bks
[E3))

. kR 2
g @exn)







ERR24 %4




EiE25
B L)
ek - IR

1. 131
()

2, L1
(£)
3. A2
4. 45HNE
EGH e TR
H (EHiB2)
5. 45ME
Ty i
(S
6. LiHEE4

7. 4 HHinE
Bk &

8. D2649 (1)

9. D2649 (2)




Ekk26

e

i
Hi - ER

1. A4438
2. J4055

3. K1700
4. K1650
5. D2689

R

B485

. G360

. B604

T8
(E 9
D2688
02790

9. B839

. K1660




Bahk27
EES L
1

1. D2674
2. A321
A4497
F958

3. E877
4. W1
D2630

1

1

. B581
B440
€600
C464
C13
€595
(424
D291
D1589

9. i1

o =14




Ehk28 ]
kS L] 132(8347)

&t
150
' (254)

142
. A225 (B1576)

—

E958
B1874
D254

. 6121
. E3
. E3

oo W

6. B881

7. J2957
J4238
J4869

8. B723
D2863

9. D2477
E280 - - o S

10. ‘a&kE 3 17 17 178 1




[Eh&29
EEs

ERA

-

. B1386
2. B1386

3. EhB6R
Uik
7

4. BWBIR

Ul EE
7
B1386
B1377
B1341

. B1385

. B1385

B1385

B1385

B1385

Lo,

10. X
1486 K
URiZk:

7
N
11. B1377




[EIAR30 =
i+ Q @
ehitt a2 it
EB¥B an . s

= - Q
m ar
2 99

a7

1. R ‘m

it 501
=21

3. B3434
4. B1827




ERR31
Elai b))
it
E%B-C-
D-E

1. B3097

2, HHs
E#CR
B2828
B3499
B2988
B3020

. B3035
. B3035

SIS




BkR32

1. #96
RO
AR

2. B2081

3. E#nol
fia

4. P00
BHD
e
B2297

5. B2469
6. B1943

7. B2006
8. (579




EdRR33
Hidw
i
BS
FeL-~

-]

(=2

9. D287



R34
PEs U]

EML-M

1. R
BT
2. BEL

110
RUH

3. D570

‘ 780 7
4. D487
D602

822 823

114E U
iR

BIE I I 817




BAR3S . ’
766
m

ks
it

EBL-M -
. 7%5
768

- ! 7
e
1

BS54
1938
F Vot 0
850
2. #1116
117 ‘ 2
RUD . - s .

R

1. D728

3. BN
X i

4. B#N
AN
116
LT
i
D2803




g% 'A S W s
.ﬁ,.m'mf'\




BEES7 ‘ =
bekt L] 1076
1073

chitt a4 075
BE¥H

A-H-K#E
2
1. A340 Lo 1063 iy
C435
C514
s R
3

2. HHK 1059 1%

agké
3. H340 1

-

5. H400




BIkR38
P
it
J K- HME

1. H1403
2. H1105
3. K418

4. J422
5. K570
6. H2107

7. HIBX
iR
8. K305

9. J4210
10. K377



1. K1627
K1469
K1691

2. K424
3. K435
K426

4. K1632
5. K511
K525




WE® P B
Absk [ES3LCVERD
# 4 et
Ex
RS
YUK | KRR AR
“Y-ZXHH (2006—5
W AEE MRz, WA, WL
AR [ ARRUHRAR
M AE A | T540-0008 KRIFTARLPAKAFH2TH TEL 06-6941-0351 ()
REFAB |20 3 A28
R 2k | e itk
mesn | e [T T | D | meem |0 | wse
94,
CiEsEL - =+ .
— o M il = . RERA
BHSBHE | 4L ammsssan| 27201 32 19 o | 87| man | ZmEfE
ZWF2TH 5 & T AEATH
~2000.3
2000.6
~2001.3
e alEr FanHt L o R
e FRE 1% 1
B R 5%&; 9 AT
ik R BT qxs
(s op .
wwn | o |
#r %
L T
R 20
A ngu
n  EH i
S it TRE® 2y | S
ijfﬁﬁ’“ gﬁg & 5&%
Ak iy
Eagl
sm i W 2k
TRERHT  BHVHMO R 1 & (RIS B & b8l
— WO RBSROMEEOM, M b PEIHROBIIHNS E ERIL.
o g ARSI TR DB L WS ko

*Huth,




KRR L AERE 2006 -5

ST IlES I

58
Al

frH
L]

KEFBERRZ
T540—0008

KR RIEAFR2TH
TEL 06—6941—03514%
200743 A20H
@R 5 —
T582—0001

WRHA5E5 THG6—25




AR M S (R B k5 2006 — 5

{45 (1~6)
2007%#3H

ARFHEEERERZ



- 1230
| x=-120350
—{ X - 120400

Y= -33450

Ym-38400

T RFF R 1]
HEI1 EHAEETEN

Y=- 38300 20

e

X 129450 t—ro




Y=-38250

Ya

- 36400

v

120350

Tinss

X= 129450

- 129400

TR B 1]
HE2 S ERE T E R

Y=~ 38300

X=- 120500

129500

V=~ 38250

Y= -38.350

Y=~ 38400

| x=
L X




- mfis";l:wﬂ v--j-msl + + + - x--

¥=- 3842091

(¥=-38160) Y= - 3838091 Yo - 3836091 -~ 38340
(=310} ¥ .

X~ - 1203839 +
== 129700

K-~ ogsmu—-

x--tam+

[FRff=rltir I )
M3 G-I MXEHFEN
(ERMD( ) IEIERAILR)

0 10m

IS (S IR [

X=- 1294130
wE Ia\zﬂl!illmﬂl Y=~ 3840091 ¥= -j;ﬂl!l -+ - + +x-_ B



X= = 12940834
(X=~129750)
Y= = 3847001

A= - 124083

Y=~ 343091
(y=-38120)

+ Xe=- 12942334

M-

—|—x-—mm

A= - 12946334 +
(X=~129810)

[RefFliF I

R4 ] R
(HERMEO () A ERERR)

Y= -3347081 ——— "

seeme - T e



